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2023 (17-A) " RollNo! Z;‘ P
INTERMEDIATE PART-II (127 Class) ; 77
[ MATHEMATICS _PAPER-TI __GROUP-I - e
TIME ALLOWED: 2.30 Hours | SUBJECTIVE :80
NOTE: Wnte same question nomber and its parts number on answer book, as ﬁwen in the quw e
 SECTIONd
2. Attempt any eight parts, - 8xl= 16
{i) | Whatis a function? { {ii} | Prove the 1dmhi} cmh x—sinh® x = -1
: ; i - 1Y vy 3 .
(1) | Given that f (x) = ¥ - 247 + 4x - | find fl - | e, 2] 5oL |
o e TRV il 5 VXL
) Find & i 4,.|';-+»\,-'; L T s V=XCO8Y
i R idx ) .
{"ii_} | Dgrff-fﬂ-nﬁﬂtﬁ Jr' =Efr:'=: w.rth X (Vij]:} -}ifflﬂ-'re[]tl}l“.’ Eillx w.rtr eolx
{1x) i Tind y; if y= =it 3x [K}_ | What is a Stﬂ,t"r(-'ri?ﬁl"{ point?
x| Define problem constraint, - | (xii) | Define feasible region and feasible sulutmu
3. Attempl any eight pargs, ) oo 8x1= 16
(1) i Find gy and &y, if y= el =1, when x (i) Evaluate jSinﬂ + &) xax
. changes from 3 w 3.02. N I B s
(i) | Evaluate _F _{ ” (V) | Evaluate [x Inxdx
1ul'¢— X » B ) - !
' (¥} Fval - {vi} | Find the area betwaen the x — exis and the curve !
i fEﬂllatE'lF{x + 1) ax 'L'—'Sm*x.['lmﬂ = (Oto x.xf
(vil) | Splye 2 _ __JJ (\“1 ’i-_l_'m.d the unit vectagpt v = e i
i
(ix) | Write direction consines of v = 4i - 55 (x)
(xi} Prove that D
caxlht+e)-bx(e+ra+ex(a+b)=0 !g“.ffd‘l. 5 are
| } | N —k; v=i— -2k w=2-3i &
| d N e | e W 12 L . s
| 4. Atttmpi_ﬁm nine p.zm. e Gx2=18
() ' Find # suchthat A(—=1, k), B(3, 2) and collinear - o
)| The xy —coordinate axes are rotated about the 3g sugh an angle of 30°. Ifthe xp —coordinates of

: a point are (3, 7), find its X} —coordinates, v\& and (Y are the axes obtained affer rotation.

(111} Find the distance hetweer the parilie) lmm@ ¥ $2=0 and 6x+3y-8-0 Ra
(iv) | Cacek whether the point {—2, 4 lies above low the line 4% + 5 y—-3=0

{¥} | Find the area of the region bounde & triangle with vertices (a, b-l-r,} {a, b—ec} and (—a c}

| (vi) | By means of slopes, show that %&mg poinis lie on the same Emr& |f 4 a), (3, &), (10, 'ﬂ}

| {vi}) | Find an equation of fthe ling & the first and third quﬂdranh; L

| (viii} | Tind the contre and radiu 1;*‘1:: with the equation 4x" +43° —8x + 12y - 23 =10

. Ux} Find the .!ength Dfﬂ.le;"tﬂnh 0y

-iﬂ' Write an equation of the parabola with given efements focus {3, 1}, dircmrtx x - 2_}' —3=10
{(x1) | Find :'.:_n_e;.p.t;.lian of the gllipse with vertices { 0, =5} and eccenfricity %

(xii) | Find an equation of the lnperbola Wit 1 [h. gn en daLa Foci (2 + 5+/2. =77 and length of trall%ﬂr“f azas 14

{xiii) | Find an eqaj'muu {}T th-: u“cle wwh h ends of ciameter at { :3 _} and (5, -6)

T SECTION-TT

from the point 7{ -5, 10) tethecirgle 3474 537 1 l4x 12y 10=1

. NOTE: Attempt any three questions. 3 x.lﬂ 30 —
P ada) BEvaluate [im tand - sin ¢ ].- If ¥ = geos 6, M= hsin® @ then show that 4_”2.,_ Btanf — 0
e 0t gin’@ (b) : dx !
6.08) | pvaluate efx | {'ind the equation of perpendicular hisectar of the se el joining
I.q—_ Ry b P (b} | the points 43, 5) and B(%, &)
N A L ;
74a) Bvaluat % (b} | Maximize f{x. v}=2x : 3y subject 1o constrainis
- jcmecmﬁdﬁ Zx+ peR x+2p=ld, x20, v20 |
A
o _ — 4
e g
B48) | 1f y = goos(ing) + Bsin(inx), provethat 429 £ Wy l%_y__ﬁ -
{0} | Find the length of the chord cut from the Jine 2x + 3v =13 bythecicle x*+ 3° ~36

9.(a) ' Show that an equation of the parabala with focus at {acosa, asina ) and directsix xeoser + psinee + a=10

! i’i (xsina — yeoser )’ = dafxcose + ysing)

) | Prm e that the line segment joining mid poiats of two sides of a triangle is parallel to third side and hall as [{mir

14-2003( 1 A)-15000 (MULTAN)}
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| INTERMEDIATE PART-I (1I2Class). ~ 2023(™4) [ oo £ UL
MATHEMATICS _PAPER-I __ GROUP-II \ A 2
| TIME ALLOWED: 2,30 Hours | SUBJECTIVE | MAXIMUM MARKS: 80

NOTE: Write same question number and its parts number on answer buuk, as given in the question paper.

~ SECTIONI

2. Attempt any cight parts. - 8x2=16
(i) | Define a polynomial function of degree n. {ii) ‘ [Jetermine whether given function f
' : 1buﬂnm odd ,f:x]—;,y_+h i
(0 | gt - |r = B (¥) | Find the derivative of »> and also caleulate
i N the value U‘del‘vdllVL al x = 8.
V) | . D [ Find @if xy+p=2
) ! T):f‘ erenl.mn: Wl & x7+2x P43 g e P B ) :
R A T A Pl i y amw 7 1_" i - 1
[Vl] :E'J.n.d dj 1f \ e — _}’bll‘l ]_.I i ',‘__1!?111] [J] ﬁﬁl"tﬁﬂl‘lﬂ[ﬂ W.f.t. X x = 41’
dx : e ' _—
(ix) F111d dy iy = et (x) State Maclaurin's series expansion.
dx T St i —_— -
{xi) | Define optima!l soution. (xii] | Define the associated emotion ol an incquality,
j___;i_ttﬁ:m]]t any cight parts, - 8x2=16
TR g oy M S T _ : ;
() | Uind & and &y for y— x* -1, when x || Evaluate (7 LY 4
_changes from 3 m 02, - kT W o

(iii) | Evaluaie s | (i)

B I
v F"I.f 1hlﬂ.1¢ F(T3 + 1)ede ! (vi)

_I ] PN,

(vil) | Solve the differential gLLLtion dr_ L} L (v} | B

ar x |

(ix) | Find vector whose megnitude is 4 and is (%) |

Cparallel to 2i - 3j | 6k Q Pk |

(xi) | Find a unit vector perpendicular to the plane | (i W Prove that | — 2j 3k, —2+3j— 4k and

l containing @ and b, a = ;+;, b=i—j . % {~3j + 5k are coplanar,

4 Mtcmpt am' nine parts.  9x2=18
(i) | Show thal the puints A(3, 1), B(-2, -3 ' 2, 2y are vertices of an isosceles iriangle. _ "
(i) | Show that the points 4(-3, 6), B(3, 2) (6, ) are collincar, b

| (111} ! Find an equation of the straight line @it\s ferpendicular to a line with slope — 6 and its ¥ — ]IiLL!‘LL}'JL i5 2
{W) Write down an equation of t hich cuts the x -~ _dmh at (2, 0) and y— EXI'E. ElT. {0, —-4).
(v) | Transform the cquation ::NE Y+ 39 =0 into mn-wtercepi form.
{vi) | Check whether the 1@43 ~3=0,5s+12p+1 =0, 32x +4J - 7=0 are concurrent or not,
_ f‘ril} Fmd the le{ﬂT'ILL betweet the pmdllﬂl lines hi2x -Gy +-1=10 and .-! 2x—-Sy+a=>0
; (\«111} Find the centre and radivs of the circle with the equation 3x° + 53" +14x+12y-10 = 0
(ix) | Find the co- oedinates of the points of interseetion of the line 2%+ y=5 and the cirele x* + 3 —2 —9=10 _
[ (%} Wrile equations of the tangents to the circle x* + 3* —dx+ 61+ Y==1 at the points on the circle wh{:-qe ’
ordinate is — 2. _ |
(xi) | Find an equaiion of the parabola whose focus s #(-3, 4)and directrix 15 3x—4p+5=10 |
(xii) | Iind an equation of the ellipse having centre at ( 0, 0 J, focus at (0, -3 yand one vertex at ( 0. 4 ). '
| (xiii) | Find an equation of hyperbola whose foci are (&4, 0)and vertices {+2_ Q). . '
SECTION-TT .
| NOTE: Attempt any three questions. R . 3x10=30
|3 et 2 L i (B) | Find by definition the derivative of cos~/x.
| . Ea
£ _ A = .
1 643)  pvaluate J- {b) | Find equations of two parallel lines perpendicular to 2y y+3=0
o uuh that pr oduct of x - and ) —intercepts of each 14 3.
7.42) | Find the area hnunded hv The ourve y = o 41: and the ¥ —axis.
(by | Maximize f(x, ¥)=x+3 _v subjectm l:mlstraum 2x-5y <30, 5x+4y*’2U r}l.l. vzl
8.a) | Show that ¥ = x”has minimum value at , _ !
E —— ———
(by | Find the equation of the circle passing 1.hrnugh the pnim‘s A4, 3) B(-4, -3), C(§,-3) n
9.4a) | Find the focus, verlex and directrix nrpmcthula =4y -8y +4=0 -
| (b) | Prove thal by using vectors method cosl o — ;.’]'} = coswe cos f + sing sin ,8

16-2023(1%-A) 11000 {(MULTAN)
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[ Paper Code 2023 (17-A) |

Number: 4191 INTERMEDIATE PART-II (12" Class) ‘ Roll No:
MATHEMATICS PAPER-1I GROUP-I 4‘
TIME ALLOWED: 30 Minutes OBJECTIVE | MAXIMUM MARKS: 20
(Q.No.1 | You have four choices for each objective type question as A, B, C and D, The choice which you think

is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen to

fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. ]

N QU [.STIHNS A B C D
| Lim (,g :J. = — oo 0 1 + oo
L= =0 . . : S
2 | f(x)=x isafan: Odd function | Fven function Neﬁher even Cuonstant
- _ _ ~__norodd [function
3 |IfCe D, and FC)=0 o Increasing Decreasing Stationary | Critical value
[(C) does not exist, then the value walue value
number ' is called: |
4 .'-':2 x] S-j.ﬂ x s X : ._ll.#.p”.- H]:.'
ldyx+—+—+ .=
2 13
it d at g
—{a* )=
dx ) _ e
6 | The notation ['(x) is used by Lagrange Leibniz
the mathemalician:
7 jtanxdx: fn|sinx| + ¢ il tan x| + ¢
3 "1 =in2x’ ' -f'u[.tn:m"'r)-li m{xsin2x) + ¢
[ =+ == jax=
Lx  sin'x
9 ‘?ZJ: s ‘E,:r
[ote L
2
10| %
J cosxdx= 2 3
a
11 | Blope of |i 3
the line . sl | 2
12 | Distance 5 6
from x—
13 | The lines ith slapes m, =0 mm, =1 | e, = —1 m, --mz
gnd m, are p |
14 | x =35 islhe solt < 1) 2x -3>0 TFT=0 x <0
incquality:
15 | The centre of the circle (1,2 (-1,2) ey | b=y |
(x+1)~(p+2V¥=161x
16  Ananglein semi-cirele is of 30° 45° SRR 1 koo a0
TEasUre;
17 | The parabola ¥ = 4ax; a =0 |Left Right Upward ) Downward |
opens lowards:
18  In un ellipse, the foci lie on: Major axis Minor axis Directrices Centre
19 Work done by a constant force Frisei o o i e g F
F Guring displacement d is
‘ equal to
200 1f @ and b are two non-zero h a.b b x d —hxd
veglors, then @ X b = [ |
141’0@)(*3 2023(1"-A}-15000 (MULTAN)
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Paper Code 2023 (17-4) L
Number: 4193 | INTERMEDIATE PART-IL (12" Clasy Raltho:, 5
MATHEMATICS PAPER-II GROUP-I |
TIME ALLOWED: 30 Minutes OBJECTIVE | MAXIMUM MARKS: 20

().No.1 | You have four choices for each objective tytm guestion as A, B, Cand D, The choice which vou think
is corvect, fill that hubhle in front of that question number, on bubhle sheet. Use marker or pen to

L fill the bubbles. Cutting or filling two vr more bubbles will result in zero mark in that question.
5 | ~ QUESTIONS F A B = D
1 | The notation f'{x1 is used by | [agrange Newlon Cauchy Leibniz
1he mathematician: i _
2 J'mnﬂi,c: fnsinx| + ¢ | fm|cosx|+e | frosecx|+c | fn|tanx|+ ¢
3 1 sin2x7 . frsinlxy + ¢ frixsin’ x) + ¢ | frlzeosixb+ e | fnfxsinlx) +e
[ i a0
‘a. X sinx/ _ :
4 | Ie“"dr= e g gy 2 X €. gt ‘e
5 | =
J-E-nsx:fx: 0
6 | Slope ol line perpendicular 1o 1
theline x + 2y + 3 =01 T3
7 | Distance of the point ( 3, 2 )
from x —axis is:
B | The lines £, E?' with slopes m n = i,
| und m, arc parallel if:
9 | x =3 isthe solution of v =
inegquality:
10 | The centre of the circle (L.-2)
TR 90°
12 Right Upward Downward
13 gxis Minor axis | Dircetrices Centre
14 Work done by : Fd e s dxF |
£ during displacent
cqual to
15 |1t @ and B are two non-rero ab a.h bxa -bxa
vectors, then axbh = ) i ]
16 1 [im (e ) = - 0 l booo
A —p 20
17 | flx) = x is afan: Odd function | Even function | Neither aven Constant
. : nor udd function
18 |IfCe D, and f(C)=0ur Increasing Decreasing Stationary | Critical value
FC) does not cxist, then the value value ﬂfi‘_
number C is called: _
19 NENE Sinx COSX e L
14 x+—1+ F G
12 |3
20 d G i | a’ i’ Fra at Fro
b )= . =
e = a

L4(Ob] (P H)-2023(1%-A)-15000 (MULTAN)
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Paper Code
Number: 4195

2023 (1°-A)
INTERMEDIATE PART-11 (12" Class)

MATHEMATICS PAPER-1I

GROUP-1

Roll Ne:

TIME ALLOWED: 30 Minutes

| OBJECTIVE

"MAXIMUM MARKS: 20

- . 1 ]
Q.No.l | You have four choices for each objective type question as A, B, C and D. The choice which you think
is correct, fill that bubble in frant of that question number, on bubble sheet. Use marker or pen to
o twao or more bubbles will result in zero mark {n that question,

fill the bubbles. Cutting or fillin

ER QUESTIONS A B C D
I | Slope of line perpendicular to 1 1 &
the line x+ 2y + 3 =10 1s i 2 s 3
2 | Distance of the point { 3, 2) 2 3 3 6
from x — axis is:
3 | Thelines £, £, with slopes m, m tniy, =10 mym, = 1 mm, =—1 .m, = m,
and . are paralle] if;
= : S
4 | x =3 is the solution of 2x+3 <0 x+1l<D x <
inequality:
5 | The centre of the circle 59 (1,—2)
(x+1Y+ (v +2) =16 i
6 | An angle in semi-cirelc is of 30° 9()° ]
magasure:
7 | The parebola ;L:: =dgx; a>10 Downward |
opens towards:
B | Inan cllipse, the foci lic on: Centrs
6 | Work done by a constant force d x K
F during displaccment o is
equal to
10 |1 & and hxa —hxa
Vectors e e
12 fx)= | Even tunction | Neither cven Constant |
ner odd function
13 |[WCeD, a Asing Decreasing Starionary Critical value
f.r{(:u } dﬂbb n L ".-':-_‘r.hlE B _EMCI_ .
number C is calle )
14 x? COE X ot gl
1+t —F - Fi i
| e
15 ff—(a”} . a’ a*. En @ fna
J.’er ) up '.‘!w_-u._l- a‘ |
16 | The notation f'(x) s used by Lagranpe Newton Cauchy Leibniz
the mathematician:
17 Itanxa’x= fn|sinx|+c | fn|cosx +c¢ | fnlsecx|+ e | Fa tanx|+c
18 J( 1~ Sinlﬂ& B Cfmsin2x +c¢ | fr{xsin®x) + ¢ :in[._;_x:nﬂl r-¢ | fn(xsin2x)—c
_ \x-rﬁiu!x_.f - ] B o
19 | [e*dy = 2e™ + ¢ e+ 2xe™ + ¢ e’
- s + L-u
2
20
| |cosxax= 0 1 2 3
T:l i -:EEE?"—”" ——

14(0bj) P Fe K )-2023(1°-4)-15000 (MULTAN)
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Paper Code

Number; 4197

MATHEMATICS PAPER-II

TIME ALLOWED: 30 Minutes

2023 (1%-A)

INTERMEDIATE PART-II (12" Class)

‘ Roll No:

"

'GROUP-I

OBJECTIVE |MA:X-IMUM- MARKS: 20

Q.No.1 | You have four choices for each objective type question as A, B, C

and 1. The choice which you think

is correet, fill that bubble in front of that question number, on bubble sheet. Use marker or pen to
_fill the bubbles. Cutting or lilling two or more bubbles will result in zero mark in that question,

5.4 ~ QUESTIONS A B C D
1 | Anangle in sami-circle 15 of 10° 45" 60" go®
measure; s
| 2 The parabola ¥y = 4;;1::_ a0 Left Right Upward Downward
apens towards:
3 | Inan ellipse, the toei lic on: - Major axis Minor axis Directrices Centre
4 | Work donc by a constant force Fwxd Ed i TR Fuf
F during displacement d is p
equal 1o
3 | If & and b are two non-zero ab a.b hxi —bxia
veclors, then @ X h =
6 | Lim (e') = — @0 —oe
7 f(x)=xisamn - Ddd function | Eve Weither eve Constant
. _ nor odd fimetion
8 |IMCeD, and f{C)=00r sing cdje Stationarygise Critical valuc
FHCY does nol exist, then the ‘b ‘alue vall
number C is called: - . |
9 %7 =E aip Cos X e BT
R e \
l':' i ¥ % E et a’ Fret
o . ina a
11 | The no [ agrange Nevtan Cauchy Leibniz
the ma ) -
12 J-tanw: sinx|+¢ | fn|cosx|+¢ | fnfscex ¢ fnltanx| ¢
13 J ( J_ @y + En{ljsin! ¥h+o | fnlxeos' Xy : Enlesin2x) + ¢
—+
WX R
14 je“u’x +c et 2xe™ 4+ ¢ ™
+C
2
15 | =%
[C{&F. xix= 0 ] 2 3
]
16 | Slope of line perpendicular to 1 1 o - 3
the line x +2y + 3 =0 is: ) 2 2 3
|7 | Distance ol the poinl ( 3, 2) & 3 5 6
[rom x—axis is:
I8 | The lines £, £, with slopes m | wy+ms =0 ml_ﬂ.i: =1 mup =~1_ rﬁf: 1,
and s, are parallel if:
19 ' x =3 isthe solution of 2x+3<0 2x=3=10 x+1<0 x<0
incquality: |
20 | The centre of the circle | [LZ) (=127 Eelon®3 tE =
{:x_-l]1_:{.}’;+2}?:]ﬁ 15 L
14(0bi) e e W F)-2023(17-A)-15000 (MULTAN)
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Paper Code | 2023 (1°-4) .

T INTERMEDIATE. PART-TI (12 Clags) | RollNoi
MATHEMATICS PAPERIL  GROUP-II

TIME ALLOWED: 30 Minutes | OBJECTIVE | MAXIMUM MARKS: 20

(.No.l " You have four choiges for each objeetive type question as A, B, C and D. The choice which vou think

is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen Lo

o= | fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
S QUESTIONS A B | C D
1 Lim (") = — o 0 1 +
2 | Fix) =sinx is - Ddd Even function Constant Linear
funetion funetion function
3 : 1 1 1 1
. lf.}:=x-|-—|,thcnd—}=' Ermi= — =1 J=== =
3 X X
4 i ; 1 -1
Il v =sinh ', then L . .
2 «,I,'xz F yx =1
S | Derivative of cosx w.rt, cosx is: —ginx 1
6 | The fanction f(x)=3x" has 2
. minimurm value al x =
? T I 3
Js.in xdy = I
8 [1r p=x°, then dy= 3udy
9 h . (i P
[Fixyd= f(xya | = | flod
} 2 i F(x) () +e faxy + ¢
Lk Ji;-__%ﬁfﬁ = FE )
Sx)
11 | Slope of line 2 Undetined
o y—axisi
12 | v—intercept o 5 3 5
; - p{ 15l /ré :‘/SJ f/.g
LW ==
13 | The point of inters tre Centroid Circumcentre | Orthocenter |
of a wriangle is call
14 (U,l}ismesnluti{:nnul"l -3y >0 r=2y= x-rl-_}»‘:-*U x=0
|5 | The cnd points of minor axis of the Vertices Co-vertices Foci ~ Eccentricity
ellipse are called its:
16 | The length of latus rectum of =y —4 4 8
parabola 3 = —8x is:
17 | The vertex ol the parabola (—1,2) {2y fd =) (1, 2)
(x + 1)V =8(y=-2) is:
18 | The len gmmﬁi"ﬂt.liumett:r ol the circle 4 6 8 16
v+ =16 is:
19 | i x (¥.@) is: Scalar Veetor [ii'oduct Inner product Meaningless
praduct
20 | The value of |_; ] ch= =1 | 0 L 2

16(0b)( K 1-2023(15-A) 11000 (MULTAN)




www.arifrao.com

Roll No:

Paper Code 2023 (17-A)

Number: 4194 INTERMEDIATE PART-11 (12" Class)
MATHEMATICS PAPER-II GROUP-I
TIME ALLOWED: 30 Minutes |  OBJECTIVE

MAXIMUM MARKS: 20

QNul | You have four choices for each ohjective type question as A, B, Cand Tk The choice which you think
is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen to

fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that guestion,

16O} Y W )-2023(17-A)-11000

5. QUESTIONS | A B C D
1| The length of latus rectum of : -8 —4 4 R
parabola ¥ = —8x is; ‘
2 | The vertex of the parabola = (1 ~2) C=1L,-2) (1,2)
(x+ 1 =8(3-2) is:
3 | The length of diameter of the circle 4 g 16
o Pt =16 e
4 | @ = (F.W) s Scalar Inner product | Meaningless
product
3 | The value of [f 3 .IEJ: 2
6 | Lim (e") = - +m
T | f(x)=sinx is: Constant T.inear
[unction
b % 1 |
If y=,t+l_.1;lmnd’= — =
4 Pris =
9 -1
EIIEE -1
10 1
11 | The function 1 2
MINimur va
12 | = . 3
jsin Fal =
13 | If y=x", then vl Axae xde
14 | @ “ iy —i
[ £ e = —[rioar | [rma | = [f(x)
4 2 —f —
15 J“f (), _ f(x)+e| fnfix)tc | mfnf(+e| frx+e
Fix}
| 16 | Slope of line which is perpendicular 0 1 | 2  Undefined |
10 v —axis is;
17 | y—intercept of the line 2/ LT 3/ 5
2+ 3y -5=10 is £ £ 2 A 2
18 | The point of intersection of mediars |  Incentre Centroid | Circumeentre | Orthocenter
of a triangle is called:
19 {0, 1}is the solution of mequality; | x -3y >0 x—3y=0 X+y=0 x<0
20 | The end points of minor axis of the Vertices | Co-verlices Foc Fecentricity
ellipse are called its:

(MULTAN)
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Paper Code | 2023 (1°-A) Ry
Number: 4196 INTERMEDIATE PART-II (12" Class) | ROIINoO: / -
MATHEMATICS PAPER-1I GROUP-II B

TIME ALLOWED: 30 Minutes | OBJECTIVE | MAXIMUM MARKS: 20

().No.1 | You have Tvur chaices lor gach uhjective type question as A, B, C and D, The cheice which you think |
is correct, fill that bubble in front of that question number, on bubble sheet. Lse marker orpento |
fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that guestion,

Sk QUESTIONS A B G D
1| Slope of line which is perpendicular 0 ] 2 Undefined
o y—axisis
2 | p—1ntercept of the line 2/ _ 5 3 =
2x+3y—5=0is £3 A 2 A
3 | The pnini of intersection of medians Incentre Centroid 8 Circumcentre | Orthocenter
of a triangle 1s called: 3
4 (0, 1}isthe solution of inequality: | x =3y =0 r+yp>0 r<l
5 Theend points of minor axis of the Vertices ‘0 Cecentricity
' ellipse are called its: ;
0 | The length of latus rectum of -8 b
parabola 3* = —8x is:
7 | The vertex of the ﬁarahr;:la (L, 2)
(x +1) =8(p-2) is:
8 | The len pth of diameter of the eircle 16
x4+ 1 =16 s
9 | dx(v) is Meaningless
10 | 1he valuﬂi‘“ 1 2
1] fim l:i':"x } i + ot
12 | pexr=35n Constant Linear
function function
R Pra—" | L | 1o
X X X X
4| = =3
] If »= sinh™ x. then '2]_ — el
1'-'II_'.'I..' _1 wlx-r_i_l ‘I,;x _
|5 | Derivative of cosx w.rt. cosy is: | —sinx sinx 0 I
16 | The funetion f(x) = I has - 0 1 2
. minimum value at x =
| 17 | = 0 T 2 3
' fsinx dx =
18 1f y=x, then v = o 3y x Ix el 3xedx
19 | & o 5 a b b
[ 7Gxy = | Jrede | —[fods | [foe | [Fioe
20 Jj'“('xjiv _ -_E';f[x)+c fmft(x)+c | tmfix)f(x)re fux + ¢
fix

L6(0bi) (P Yo Y )-2023(1°-A 111000 (MULTAN)
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: Paper Code | 023 “HI'}H | | — .‘h{‘/
Number: 4198 INTERMEDIATE PART-II (127 Class) ;

MATHEMATICS PAPER-II

TIME ALLOWED: 30 Minutes

GROUP-11

OBJECTIVE

MAXIMUM MARKS: 20

You have four choices for each ohjective type l]ltl:’ﬂﬁﬂl’.l. as A, B, C and D, The choice which you think
is eorrect, fill that bubble in front of that question number, on bubble sheet. Use marker or pen to

Q.No.1
| fill the bubhles. Cutting or filling two or more bubbles will result in zero mark in that question.

SF | QUESTIONS A B B C D

I | The fonction £ {x) = 3x" has -1 0 1 2
minimum value at x = )

2 |= = 0 1 2 3
jsinxrhr =

30 y=x, then dy= frz [ x| Ixtde Sxdl

FR o a = =g — =
[ 70y = [ (xyax [rloe - [fixm

BB miis)+e| e | /2

[f,{x}dx= fn fix)+¢ AR fnx + ¢
= fx)

6 | Slope ol line which is perpendicular

o ¥ —axisis

TIndefined

7| J - infe-rcept of the line 5
2r +3v-53=10 is: 712

& | The point of intersection of medians Orthocenter
ol a tnangle is called:

) x =
10 Hecentricity
11 | The length o 8

parabola )

12 The vertex of 1.2 (l,-2) fi-1, —2) (1,2)

(x -1y =80
13 The length of di 6 8 16
2+ =16 i

14 fx(#.w) is; Scalar Vector product | Inner product | Meaningless

praeduct

15 The value of [f Jok J: = 0 . .

16 | Lim {.g"j_ - — ok ( 1 = b e

17 [ F(xy=sinx is . 0dd Cven function Constant Linear

function function funetion
_]3 —_ I ——— |
IT y=x+l,then f;"(]{—z 1—I ]——1 l—i2 L?—l
x ix Ld x x ¥

5 B — -

If y=sinh ', then 2 = -,II_ ﬁt foc: 2 i, 2
oy 1|I|'I.:':ﬂ + ]. ",~|Il.x‘. = ]. ﬂﬂllxz =+ 1 \.'II.‘JJ? L 1
20 | Derivative of cosx wrl cosy is —sinx sin x ) 0 1

(MULTAN)
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